
Back Canes and Headrest Extension (9110L)



Back Canes and Headrest Extension (9110L)
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1028372 Back Cane Assembly, 10 Degree Bend 1 21
1006229 Grip, Foam (8") 1 22
1057955 Screw, Hex Head (1/4-20 x 1-1/4") 1 43
1025195 Locknut (1/4-20) 1 44
1027095 Plug Button, Black (7/8") 1 25

1054605-NLA NLA - Tube, Headrest Extension 1 26
1028756-NLA NLA - Tube, Insert 1 27
1028752-NLA NLA - Bracket, Headrest, Black - Right 1 28

1028753 Bracket, Headrest, Black - Left 1 28
1028484 Screw, Phillips Pan Head Tap (#10-32 x 1/2") 1 29

1054612-NLA NLA - Bracketry, Headrest, Black 2 110 A
1031095 Screws with Washers (#10-16 x 7/8") 1 411
1076284 Screw w/ Washer (#10 x 7/8") 4 111

A - Includes items 5-9 NOTE:
 


